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FINANCIAL MANAGEMENT
PAPER: 204
Full Marks: 70

Time: Three hours

The questions gre of equal value.

Answer ¢l guestions.

1. .::éucrat" the major 5pes of financial m management
ecisions that business f; irms make. (S
e
. Or o

Ay is it inappropriate to seek profit maximisation
as the goal of fina “mai decision- -making 7 How do
you justify the adoption of present vaiue or wealth
maximisation as an apt substitute for it? State
arguments in your answer, '

' prepale funds flow. starement (Rs OOO)
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